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-E Can you. determine the text structure used? Read the .77 iirrrrrmrmrmmmmmrmmseeeeeees PRAREE

“ ¢l poragroph below and highlight key words that help you I :

S(Q| determine text structure. Fill out the text structure I SO k

“Cl ahd unhfold your page to fill out the organizer. I : '
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*CY|l : Possible Text Structures: «Sequence | ; 1 :
“CHl| : -Compare and Contrast  »Problem ond Solution: | because .

Ry . *Cause and Effect *Descriptive I : : .
‘ . p . : 1
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:'; “how much things cost based on what the: gl oo J

. consumer wants, This is called supply : : .

=l : and demand. The supply is the product : : : ;

-'. : that can be purchased and the demand is: : :

Nd | ! because

-Cll | how many people wont the product. I _

oll : Since it Is cold in the winter, the demand fgy . e S

=’l for swimsuits is (oW, This MMEANS ThOot @ I cerrrerrmreriimiiiieiiieiininennn

:C swimsUits will be cheaper in the winter,

=C In the summer, however, a lot of people :

L need swimsuits. This high demond causes :
. . swimsuits to cost full price. On o really

: hot day, ice cream will cost full
price because lots of people:
‘ want o cool treat. An ice:
| . . cream store might have a:
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sale on a cold day because !
the demand for ice cream will:
be lower, :

Text Structure:
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Fold here until the text structure is determined. Unfold to fill out the graphic organizer.
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